

Project: Multi-Use Path - 8th Street; Rural Road to McClintock Drive

Procurement No. 002

Description: Bid Due Date 1/14/2025

Category: FHWA Time: 09:00 AM

Status: Submitted Estimate: \$2,746,889.00

Bidder	Bidders										
Award	Company	Acknowledged %	Bid Number	Status	Date Submitted	Time Submitted	Bid Amount				
	AJP Electric, Inc.	100.00%	000196	Approved	1/14/2025	8:39 AM	\$3,137,798.00				
	Lincoln Constructors, Inc.	100.00%	000185	Approved	1/13/2025	3:48 PM	\$3,390,321.00				
	HAWK Contracting, LLC	100.00%	000184	Approved	1/14/2025	8:54 AM	\$3,577,777.00				
	Combs Construction Company, Incorporated	100.00%	000186	Approved	1/14/2025	8:34 AM	\$3,977,687.45				

Line #	Description	UOM	Qty	Est. Unit Cost	Est. Total	AJP Electric, Inc.	Lincoln Constructors, Inc.	HAWK Contracting, LLC	Combs Construction Company, Incorporated
001	Mobilization/Demobilization	LS	1.00	\$60,000.00	\$60,000.00	\$300,000.00	\$365,000.00	\$219,956.30	\$400,000.00
002	Traffic Control Allowance	AL	1.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
003	Site Investigation	LS	1.00	\$10,000.00	\$10,000.00	\$5,000.00	\$25,000.00	\$25,000.00	\$150,000.00
004	Construction Surveying	LS	1.00	\$25,000.00	\$25,000.00	\$40,000.00	\$60,000.00	\$50,000.00	\$200,000.00
005	Construction Surveying As-Builts	AL	1.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
006	Law Enforcement Officers/Security	AL	1.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
007	Quality Control	LS	1.00	\$10,000.00	\$10,000.00	\$60,000.00	\$25,000.00	\$60,298.00	\$200,000.00
800	Storm Water Pollution and Prevention Plan Allowance	AL	1.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00
009	Permits Allowance	AL	1.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00
010	Subgrade Preparation	SF	4,908.00	\$2.50	\$12,270.00	\$4,908.00	\$58,896.00	\$73,620.00	\$41,718.00
011	Construct 2.0 Inch of PMARAC Pavement (Terminal Blend)	SY	223.00	\$50.00	\$11,150.00	\$14,495.00	\$16,725.00	\$16,725.00	\$25,645.00
012	Construct 4.0 Inch of EVAC Base Course Pavement (PG 70-10)	SY	223.00	\$80.00	\$17,840.00	\$27,875.00	\$18,955.00	\$34,565.00	\$27,875.00
013	Aggregate Base Course	TN	17.00	\$200.00	\$3,400.00	\$1,700.00	\$5,100.00	\$31,450.00	\$56,100.00
014	Single Curb MAG Std. Det. 222 Type A	LF	638.00	\$55.00	\$35,090.00	\$29,348.00	\$28,710.00	\$47,850.00	\$49,126.00
015	Mid-Block Raised Crosswalk per Detail	SF	1,194.00	\$25.00	\$29,850.00	\$29,850.00	\$29,850.00	\$29,850.00	\$35,223.00
016	Concrete Directional Sidewalk Ramp per MAG Std Det 237-1	SF	910.00	\$15.00	\$13,650.00	\$40,950.00	\$18,200.00	\$22,750.00	\$20,020.00

1 of 5 Printed on 1/14/2025 9:18:32 AM **PMWeb**



Line #	Description	UOM	Qty	Est. Unit Cost	Est. Total	AJP Electric, Inc.	Lincoln Constructors, Inc.	HAWK Contracting, LLC	Combs Construction Company, Incorporated
017	Truncated Domes for Sidewalk Ramps per COT DET T-329	SF	130.00	\$25.00	\$3,250.00	\$15,600.00	\$15,600.00	\$11,700.00	\$10,920.00
018	Adjust Manhole Frame and Cover per MAG Std Det 422	EA	1.00	\$1,500.00	\$1,500.00	\$1,000.00	\$850.00	\$1,750.00	\$1,000.00
019	Adjust Valve Cover to Finished Grade per MAG Std Det 391-1, Type A	EA	1.00	\$1,600.00	\$1,600.00	\$1,000.00	\$425.00	\$1,350.00	\$850.00
020	Remove Existing AC Pavement	SF	4,908.00	\$3.25	\$15,951.00	\$19,632.00	\$14,724.00	\$63,804.00	\$73,620.00
021	Remove Existing Concrete Curb & Gutter	LF	589.00	\$20.00	\$11,780.00	\$17,670.00	\$4,123.00	\$20,615.00	\$21,204.00
022	Remove Existing Sidewalk	SF	4,631.00	\$4.00	\$18,524.00	\$23,155.00	\$16,208.50	\$32,417.00	\$32,417.00
023	Obliterate Existing Pavement Markings	LS	10,000.0 0	\$1.00	\$10,000.00	\$21,000.00	\$30,000.00	\$20,000.00	\$5,000.00
024	Pavement Marking Thermoplastic Based Paint 90 Mil. (White)	LF	26,590.0 0	\$1.00	\$26,590.00	\$19,942.50	\$26,590.00	\$18,613.00	\$15,954.00
025	Pavement Marking Thermoplastic Based Paint 90 Mil. (Yellow)	LF	9,980.00	\$1.00	\$9,980.00	\$7,485.00	\$9,980.00	\$6,986.00	\$5,988.00
026	Pavement Marking (Transverse)	LF	2,400.00	\$2.00	\$4,800.00	\$3,000.00	\$2,400.00	\$2,400.00	\$3,600.00
027	3M Stamark Pavement Marking Tape (Raised Crossing)	EA	4.00	\$500.00	\$2,000.00	\$1,080.00	\$2,000.00	\$1,100.00	\$1,540.00
028	3M Stamark Pavement Marking Tape (Bike Lane)	EA	6.00	\$500.00	\$3,000.00	\$1,680.00	\$2,700.00	\$1,650.00	\$1,680.00
029	Ennis Flint Premark Preformed Thermoplastic Panels	EA	6.00	\$25,000.00	\$150,000.00	\$2,700.00	\$3,300.00	\$2,850.00	\$1,410.00
030	3M Stamark Pavement Marking Tape (Sharrow)	EA	20.00	\$300.00	\$6,000.00	\$8,700.00	\$7,000.00	\$9,000.00	\$6,300.00
031	Sign Post (Perforated) (Single)	LF	168.00	\$20.00	\$3,360.00	\$4,200.00	\$10,920.00	\$1,680.00	\$2,688.00
032	Foundation for Square Tube Post	EA	14.00	\$300.00	\$4,200.00	\$3,500.00	\$4,900.00	\$7,000.00	\$2,688.00
033	Regulatory, Warn, or Marker Sign Panel w/Type XI Sheeting	SF	129.00	\$30.00	\$3,870.00	\$5,160.00	\$10,965.00	\$3,870.00	\$4,644.00
034	Enhanced Concrete at Nodes And Vato	SF	2,100.00	\$20.00	\$42,000.00	\$33,600.00	\$105,000.00	\$126,000.00	\$136,500.00
035	Concrete Multi-Use Path	SF	26,706.0 0	\$25.00	\$667,650.00	\$400,590.00	\$400,590.00	\$454,002.00	\$454,002.00
036	Micro Basin	EA	20.00	\$350.00	\$7,000.00	\$17,000.00	\$44,000.00	\$55,000.00	\$50,000.00
037	Remove and Salvage Signs	EA	13.00	\$250.00	\$3,250.00	\$1,950.00	\$4,680.00	\$3,575.00	\$2,080.00
038	Clearing and Grubbing	LS	1.00	\$25,000.00	\$25,000.00	\$5,000.00	\$150,000.00	\$40,000.00	\$55,000.00
039	Raised Pavement Marker Type BB	EA	12.00	\$24.00	\$288.00	\$240.00	\$780.00	\$216.00	\$76.80
040	Parallel Curb Ramp per MAG Std Det 238-3	SF	319.00	\$15.00	\$4,785.00	\$11,803.00	\$6,380.00	\$9,570.00	\$13,717.00
041	Concrete Sidewalk Per COT Det T-345	SF	1,597.00	\$8.00	\$12,776.00	\$17,567.00	\$15,970.00	\$23,955.00	\$19,164.00



Line #	Description	UOM	Qty	Est. Unit Cost	Est. Total	AJP Electric, Inc.	Lincoln Constructors, Inc.	HAWK Contracting, LLC	Combs Construction Company,
042	Mountable Curb Per MAG Std. Det. 220-2 Type	LF	155.00	\$60.00	\$9,300.00	\$9,300.00	\$6,975.00	\$12,400.00	<i>Incorporated</i> \$11,625.00
	E				. ,		. ,		
043	Curb and Gutter Per MAG Std. Det. 220-1 Type A	LF	312.00	\$55.00	\$17,160.00	\$18,720.00	\$14,040.00	\$24,960.00	\$20,280.00
044	Valley Gutter Per MAG Std. Det. 240	SF	1,418.00	\$20.00	\$28,360.00	\$36,868.00	\$21,270.00	\$35,450.00	\$31,196.00
045	9" Thick Portland Cement Concrete Pavement	SF	906.00	\$20.00	\$18,120.00	\$20,838.00	\$19,932.00	\$22,650.00	\$18,120.00
046	Paint Curb Solid Red for No Parking	LF	755.00	\$4.00	\$3,020.00	\$755.00	\$3,775.00	\$1,132.50	\$2,453.75
047	Grading	LS	1.00	\$130,000.00	\$130,000.00	\$90,000.00	\$150,000.00	\$250,000.00	\$300,000.00
048	Conduit, Sized per Plans, including Trenching and Backfill, attachments to Signs and All Above Ground Junction Boxes and Splices	LF	2,800.00	\$25.00	\$70,000.00	\$112,000.00	\$70,000.00	\$61,600.00	\$78,400.00
049	Conductors and Bond Wires, Sized per Plans, Complete and in Place including All Splices and Terminations for a complete set of conductors for the Circuit.	LF	2,800.00	\$20.00	\$56,000.00	\$112,000.00	\$44,800.00	\$36,400.00	\$42,000.00
050	#3-1/2 Concrete Pull Box	EA	40.00	\$550.00	\$22,000.00	\$40,000.00	\$60,000.00	\$36,000.00	\$25,600.00
051	Monument/Shade Structure Uplight Fixture	EA	6.00	\$2,000.00	\$12,000.00	\$15,000.00	\$15,000.00	\$21,600.00	\$24,000.00
052	12' Pathway Light Fixture, Steel Pole, and Foundation	EA	5.00	\$9,000.00	\$45,000.00	\$49,000.00	\$67,500.00	\$75,000.00	\$50,000.00
053	15' Pathway Light Fixture, Steel Pole, and Foundation	EA	26.00	\$9,500.00	\$247,000.00	\$260,000.00	\$338,000.00	\$390,000.00	\$273,000.00
054	New 120/240V Single Phase Service Entrance Section including Circuit Breakers and Lighting Control Equipment for a complete system	LS	1.00	\$5,000.00	\$5,000.00	\$12,400.00	\$22,500.00	\$12,250.00	\$35,000.00
055	Utility Power Connection to New SES	LS	1.00	\$8,500.00	\$8,500.00	\$8,000.00	\$10,500.00	\$25,000.00	\$25,000.00
056	Relocated Streetlight on New Foundation	EA	1.00	\$15,000.00	\$15,000.00	\$3,000.00	\$3,500.00	\$7,500.00	\$10,500.00
057	Vertical Spiral Feature - Steel	EA	1.00	\$50,000.00	\$50,000.00	\$85,000.00	\$88,500.00	\$90,000.00	\$65,000.00
058	Vertical Spiral Feature - Foundation	EA	1.00	\$4,000.00	\$4,000.00	\$4,500.00	\$15,000.00	\$6,500.00	\$7,500.00
059	Spiral Mound - Grading	LS	1.00	\$1,500.00	\$1,500.00	\$2,500.00	\$15,000.00	\$5,500.00	\$15,000.00
060	Spiral Mound - Stone Header	LF	151.00	\$50.00	\$7,550.00	\$33,220.00	\$22,650.00	\$56,625.00	\$34,730.00
061	Spiral Basin - Grading	LS	1.00	\$1,500.00	\$1,500.00	\$2,500.00	\$15,000.00	\$5,500.00	\$15,000.00
062	Spiral Basin - Stone Header	LF	151.00	\$50.00	\$7,550.00	\$33,220.00	\$22,650.00	\$56,625.00	\$34,730.00
063	Vato - Structure (Columns and Roof)	LS	1.00	\$80,000.00	\$80,000.00	\$65,000.00	\$150,000.00	\$110,000.00	\$70,000.00
064	Vato - Footings	LS	1.00	\$20,000.00	\$20,000.00	\$25,000.00	\$15,000.00	\$12,500.00	\$15,000.00
065	Vato Fencing	LF	20.00	\$500.00	\$10,000.00	\$26,000.00	\$20,000.00	\$13,000.00	\$30,000.00
066	Interpretive Signage and Footing	EA	3.00	\$18,000.00	\$54,000.00	\$31,500.00	\$60,000.00	\$24,000.00	\$45,000.00
067	Trees - 36" Box	EA	107.00	\$750.00	\$80,250.00	\$115,025.00	\$90,950.00	\$101,650.00	\$74,900.00

3 of 5 Printed on 1/14/2025 9:18:32 AM **PMWeb**



Line #	Description	UOM	Qty	Est. Unit Cost	Est. Total	AJP Electric, Inc.	Lincoln Constructors, Inc.	HAWK Contracting, LLC	Combs Construction Company, Incorporated
068	Shrub - 5 Gallon	EA	489.00	\$50.00	\$24,450.00	\$25,917.00	\$22,005.00	\$29,340.00	\$17,115.00
069	Shrub/Groundcover - 1 Gallon	EA	700.00	\$25.00	\$17,500.00	\$16,100.00	\$21,000.00	\$18,900.00	\$21,000.00
070	Decomposed Granite Rock Mulch	SF	87,314.0 0	\$1.00	\$87,314.00	\$130,971.00	\$109,142.50	\$96,045.40	\$122,239.60
071	Decorative Boulders	EA	76.00	\$400.00	\$30,400.00	\$36,480.00	\$49,400.00	\$72,200.00	\$28,500.00
072	Saguaro	EA	20.00	\$1,900.00	\$38,000.00	\$43,500.00	\$64,000.00	\$66,000.00	\$50,000.00
073	Ocotillo	EA	14.00	\$350.00	\$4,900.00	\$4,060.00	\$4,200.00	\$3,780.00	\$3,500.00
074	Root Barrier	LF	603.00	\$55.00	\$33,165.00	\$13,266.00	\$12,060.00	\$9,648.00	\$13,869.00
075	Reduced Pressure Assembly	EA	1.00	\$2,500.00	\$2,500.00	\$3,000.00	\$3,750.00	\$4,000.00	\$4,500.00
076	Irrigation Meter	EA	1.00	\$8,000.00	\$8,000.00	\$3,000.00	\$3,500.00	\$4,500.00	\$7,500.00
077	Irrigation Solar Controller	EA	1.00	\$3,700.00	\$3,700.00	\$11,760.00	\$8,500.00	\$4,500.00	\$6,500.00
078	Remote Control Valves	EA	8.00	\$450.00	\$3,600.00	\$6,400.00	\$36,000.00	\$5,800.00	\$4,000.00
079	Multi-outlet Emitters	EA	400.00	\$20.00	\$8,000.00	\$16,000.00	\$14,000.00	\$12,000.00	\$15,200.00
080	Single Outlet Emitters	EA	20.00	\$25.00	\$500.00	\$540.00	\$700.00	\$500.00	\$380.00
081	1" PVC Mainline	LF	3,646.00	\$3.00	\$10,938.00	\$45,575.00	\$0.00	\$16,407.00	\$14,037.10
082	3/4" PVC Laterals	LF	11,326.0 0	\$3.00	\$33,978.00	\$42,472.50	\$0.00	\$43,038.80	\$36,243.20
083	PVC Pipe Sleeves	LF	1,554.00	\$20.00	\$31,080.00	\$186,480.00	\$0.00	\$26,418.00	\$11,655.00
084	End Cap	EA	26.00	\$25.00	\$650.00	\$4,550.00	\$0.00	\$1,690.00	\$1,664.00
				Total:	\$2,746,889.00	\$3,137,798.00	\$3,390,321.00	\$3,577,777.00	\$3,977,687.45

4 of 5 Printed on 1/14/2025 9:18:32 AM **PMWeb**